[

i gteara giasmet § gt ot gkl (i) S eravasar bt 8?2 9ia | Yo LyEi

% [Afge™E ¥ WA wied w1 gt w1 e w i (150 Il ¥ I i)
Why is Public Private Partnership (PPP) required in infrastructural projects? Examine the role of PPP model
in the redevelopment of Railway Stations in India. (Answer in 150 words
. H IR eferaEen % Sl THeRh faee w9 2?7 9 ® onfefw faww w wiw % fau fada
A & Hewd 1 Iead i | (150 vrsai § IR i)
Is inclusive growth possible under market economy? State the significance of financial inclusion in achieving
economic growth in India. (Answer in 150 words)
. R ¥ gt foaae gonelt (fEluE.) w yg@E e @ €2 38 fhg yehR gt den uReett s
ST Hehd 2 (150 vrsgt ® S i)
What are the major challenges of Public Distribution System (PDS) in India? How can it be made effective
and transparent? (Answer in 150 words)

. YR W @rE YEER ST & hEes SR Hewe o Wik 9u wifsdl (150 ST H WY e )

Elaborate the scope and significance of the food processing industry in India.
(Answer in 150 words)

R g g W oE gfg @ e § 7% Toreed gAifad Wl 8l T €1 F98 ¢ gAaa shia-shiA o

& 3R S WM Bq -1 heH I3 SH AR &7 (150 et § v difer)
The increase in life expectancy in the country has led to newer health challenges in the community. What
are those challenges and what steps need to be taken to meet them? (Answer in 150 words)

. gt 1 Hag W U o o€l wen o ot uqe, Soqeli|, S @ Sl €1 98 Udeid T Wit

Hiparel @ Toral © e o 9% i ersiieRe, S aun o 3T Sl o uRafdd e Siar 82
(150 or=2t ® se Sfd)

Each year a large amount of plant material, cellulose, is deposited on the surface of Planet Earth. What are
the natural processes this cellulose undergoes before yielding carbon dioxide, water and other end products?
(Answer in 150 words)

. THe Fuior, gme SR YA i Hewd <4 g IS e T 1 fodRyds ==l RIS 1999 & st

Hieisia & wHEEa| (150 vrsi ® X i)
Discuss in detail the photochemical smog emphasizing its formation, effects and mitigation. Explain the
1999 Gothenburg protocol. (Answer in 150 words)
. AT IUHRTEY % wed ¥ aRd wed &1 fwafafy ok wem % wvensd| v & S i W
Hifs| (150 vr&at ¥ IR i)
Explain the mechanism and occurrence of cloudburst in the context of the Indian subcontinent. Discuss two
recent examples. (Answer in 150 words

. Ffed ST % WRT kT == R TR SR SO TR W SR Gfed ST SR sTdsharaat

% o9 Gl 19U Hifed| (150 9T2T § I )

Discuss the types of organised crimes. Describe the linkages between terrorists and organised crime that
exist at the national and transnational levels. (Answer in 150 words)
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13.

14.

15.

16.

IRd W GO TReT A 1 22 T GReM W GUR & ford Y T WA, dehihl 3R giharc
el i fag=rn wifsal (150 vt B 3w <)

What are the maritime security challenges in India? Discuss the organisational, technical and procedural
initiatives taken to improve the maritime security. (Answer in 150 words)
“gra & Tl 1 o fashra oM Sccswdl W g & RO GO g B0 T HUA HI gHed|
g faeq i wedifad w99 Scaeshal @ gugiar R famn st IR Saife § weEew wll

(250 vrEt ® TR iRA)

"Economic growth in the recent past has been led by increase in labour productivity." Explain this statement.
Suggest the growth pattern that will lead to creation of more jobs without compromising labour productivity.
(Answer in 250 word

F T foaR # IRd ST He SETEhdl 1 50 Uiavd 9N, 9¥ 2030 qeh TR0 Fel @ g
F T A SN & A i fag FifR STare e @ afoaet e 3§ Tewea st @l §
T S 399 UG § fRE YeR Hed Em? gHeed| (250 It ¥ v ife)
Do you think India will meet 50 percent of its energy needs from renewable energy by 2030? Justify your

answer. How will the shift of subsidies from fossil fuels to renewables help achieve the above objective?
Explain. (Answer in 250 words

IR W 0 SRS &% fauuvE ) SeEqE ok st gt o ged e @ 22
(250 vr=8f ® se@ Sfd)

What are the main bottlenecks in upstream and downstream process of marketing of agricultural products
in India? (Answer in 250 words)

Taferd i gomelt o1 27 R § SR SR HH[ fEam @ ¥ 97 $U ovEEd 8 Gdhdl @7
(250 vr=8f ® 3= SAfd)

What is Integrated Farming System? How is it helpful to small and marginal farmers in India?
(Answer in 250 words)

25 fe@ar, 2021 1 BT TN TG o« FdRel Tefehy qft T TRl § o4 gen g1 Su UE -
W o fauioad € S S¥ 3UH Tedl % 3fdfel TefEhidl W I SR §? 39 favH % ged =4y # 22
e S % o1 sue a Helfod @ w1 Wk §7 (250 it ® SR SR
Launched on 25" December, 2021, James Webb Space Telescope has been much in the news since then.

What are its unique features which make it superior to its predecessor Space Telescopes? What are the key
goals of this mission? What potential benefits does it hold for the human race? (Answer in 250 words

el e T STURYA fogia @1 82 deA i w1 w87 Sifag-19 ki @ T ?q 9
St Trmfarent = sn-en ugfaal oo €2 (250 vr=8 ® IW fSd)

What is the basic principle behind vaccine development? How do vaccines work? What approaches were
adopted by the Indian vaccine manufacturers to produce COVID-19 vaccines?  (Answer in 250 word
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17.

18.

19.

20.

Tolteet ST (Sfyae o) w1 el st iR AfYds Soler] W sHh Y9l i Seol@ St F#ie
Tiehict, 1997 o 3Tciich § Talleel ST 1 ®ROT o=+ oTel Fesd 6 & W & 7 &6 & fad
e U ot TETs | (250 vreai § I i)
Discuss global warming and mention its effects on the global climate. Explain the control measures to bring

down the level of greenhouse gases which cause global warming, in the light of the Kyoto Protocol, 1997.
(Answer in 250 words)

AR H T STIEA & HRUI A 9@l hl HHA | R H hEel i b ol ST e EEA
LERIECY I (250 yrEt o R iR )

Explain the causes and effects of coastal erosion in India. What are the available coastal management
techniques for combating the hazard? (Answer in 250 words)

TR e & fafer= qw 9o §7 Qe Geen &1 gHfaa w1 sam o W gu gwen wifsd e aRd |
fF 9 €< % U AT UHT WIEeR GRET WHITG Tholdigdsh foehfad i 2|

(250 or=E ® IWR SifSa)

What are the different elements of cyber security? Keeping in view the challenges in cyber security, examine
the extent to which India has successfully developed a comprehensive National Cyber Security Strategy.

(Answer in 250 words)
THICATE Tk |k, e @ik faehmacss qaa1 € S U f&gd ofdier guen @R & ®9 ¥ ke
21 21 39 el H SU gU 4Rl 1wl it oI Terd] & @ @ o %l sg&dE wEifd @
gema | (250 vT&Ei ® ITR €T )
Naxalism is a social, economic and developmental issue manifesting as a violent internal security threat.

In this context, discuss the emerging issues and suggest a multilayered strategy to tackle the menace of
Naxalism. (Answer in 250 words)



